[image: image1.png]Let X ~ Bin(n,p) be a count out of n batteries made by a manufacturer that have lasted
likely to last more than

e.g.,
more than 5 years. We observe X' =9 out of n = 15. Is the battery more

5 years?
i Test Hy:p = VS Hy:p at o = 0.05.

i, p=
Critical value is the minimum (maximum for lower

The test statistic is X




[image: image2.png]tail test) ¢ such that

0.05 > P(X > ¢)

whereas 1 — Fx (10[15, 0., 1—0.911 = 0.059 > a.

ili. Hence, the rejection region is X
DR: If X . conclude Hy. Otherwise, conclude Hq.

iv. Since X . conclude |




(The Problem is from Hypotheses Test.)

